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TEST #3 @ 130 points

Write in a neat and organized fashion. Use a straightedge and compass for your drawings.

1. Prove the following theorem (formal proof):

Iftwo chords in a circle or in congruent circles are congruent, then their arcs are congruent.

2. Prove that the locus of points in a plane equidistant from the sides of an angle is the angle bisector

(informal proof).

3. If m£1=50" and mZDAB = 40 ,
find m;l—a’ and mZABC .

4,

a) Find the circumference of the given circle (exact answer). 60

b) Find the area of the given circle.
¢) Find the length of the arc AB.

d) Find the area of the sector AOB.

5. Sketch a right triangle that has one acute angle @, and find the other five trigonometric ratios of 8.

sin&zg—
7

6. From the top of a 200-ft lighthouse, the angle of depression to a ship in the ocean is23°. How far is the ship form the

base of the lighthouse?

7. Simplify the following expressions:

sin x cosXx
+ b)

cosx l+sinx

sin’ @cos O +cos’

8. Prove the following trigonometric identities:
1 -1
a) 2tanaseca= ——
l-sina

l1+sina

. 2 .
b) (sinx+cosx) =1+2sinxcosx




JEST7 # 3- SOLUTIONS

G) Theorem 6.6 Section £.2

. qé( %M«f /»bmse we Fle ‘400/6

O e
}/ﬁt/?LZ/ ae /Z/_SAO(,U 7601716 c
/\% P A oA /m/‘o% e /‘jo“'ﬂ
5’744/'5(/37‘447‘ %’0‘% Ahe s/des
6/ a ‘e A A e
? /‘;'Z—%& et 5 s/ 7%
acusl . |

Glven < #5(_3_) -
LR BA )= A BC)

—

/57;: é/eec?é/ < AR C

rrove

(Conation. < PBA = <P£c)
_P/woz #

. ¢ . -
4t P2 L iR, cemn Sy T
F7 1 3C, Fe AC /’Vl_f
hen JCPED) = Fe T c

A7 A) = P7
oud PE = PF

A EBP
A FBAP
n'g/wf A’S

-S> AL£B7 x pnF8P
< PBE X <« PBRF

4 ,V@*L> .
/o O S/b@)

2 x

?E
2P x 3P

L)

==>
s EF = blecAS y < 4BC |
I —
-

Thace foe, =

M/e/ﬂ Jlap 7%”%
/‘%ﬂa /T VA L Fhe
72&” %e P VR et At

Gé;uz -/4{/5:;65 %/ He

Given < ABC
GF Liecor

| e77 |

5/<#/EC.

Pove e 2

Bﬁ) = O/(/Z/) BC)
# A

¢

?ho 9% 2N g

!

)

PR |
4 m
F

Bp ~dywecr =>
</ <2
. _— —
Jrow PE L 3ﬁ>> €€ g:t
PF L BC> FE e
Then d(RAA) = PE
PR ) =PF
L EBLF
A FBP
At 85
S aczp x oFEP (HA)
je x PF

SR EB) =7 é‘)

o A 1741/'440794

( »e
She sis a2/

205 & S awd 9“@ /j
/N Pz/ e %‘ﬂd/

of e TS

<l =<2 (57-4/}@04)1/
?g? o Py (BmME )

s/ de

=>

)

Fmie



4° = ﬁmga = mBO = fo X~k
x“+2=7%
m</ = 5o _ e #7- 4 = 4
Ao, < /= '/(WACﬂU“YﬁO} )<=/;; = 3/5
557 L S Al £ £0) PN
° 7 2
oo = mAC S50 SV Y
74’7/)‘@; = f’ = ’:_____—
20 = AL s & ﬁ__7§, vk /5
}ﬁwé’{ =20 oot D) - __/__: HE
—~ A& 2
m< ABC = 4 mAC ) ~ /5
2 © o SCE'Q: —— = —_——
4 & = A - J
* e 2

. Sr%= o (/0 2 J/ A vé(% X = Q//’oﬁﬂc& ﬁ%m(h_
L) H=7° y//f@_/O/ fe }&(/ Mc/%fﬂ'ﬂ%’*k

, ‘,4: /007f/zj p spe: o e z)@{?—

,\ o

Q} m< H06 = "M AB = éo [ X= 200

2cA8) T s /%;Z:f | Fan23”

o 3607 T~ ’

loas= 7| x x 47 F
v

q/) #é”g): Z_f—-z— — _ ///00{0 .

60° 260° ghag) ~ =




C7> H,s!n oo:x -‘3,

‘ ZS‘/‘,OQ
C‘D S/QX + /COS)( = - T -
cos X JASIOXK ar -
LC0= cosx( 1#90%) _ A tena !
o &

S/h?((/%&"l)() vL'CU-’Z/Y - > 724,2_ L Lc a = Z#-S
asx ( 1+ Lr0X)

2 %( 7 e 7““6‘5"
e x 519 X Fcal X 7%”7@u

coox (15X Iy o /a‘wﬁg/

= S"”\&'/_/ N Qénx+ C@/ﬁ = /%ZJ/ﬂ)(CQO)(
cos ( th) B

\

cNIX

r[{
_ sec X

2
( SaHcar B +c94-3-9 ’9‘” )¢-,LZS/4X¢991 FeA s
//7
0 (70 rab) = Gtx X S 2HIXBX
- e = ) 4 23X 02X
- = RS

Wity
J S Qlmn FPuTHU
C‘é) ?:%{ /4/&14/{1
@ .2747"LQSCC61: /‘ _ /‘

J-Jroa. /40 &_
/,
' 7
oo/
Ry - _L
J-na JA-Jr 2 A

Ll = /—.//'nky/'/:ﬂ‘ﬂy
) (/% §}n4> - (/—J/‘/M)

Q-//'o a )( )] d

\)<7Lf/./7 4‘-—\( 7L _f/ﬁ 4 2J/\04_

e Gt A T costa




